Review Lessons 3.3 & 3.4 Worksheet Name: K{}j

Graph the system of inequalities.
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Solve the system using any algebraic method.
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13.) Mukwonago was the big winner at last year’s Classic 8 Conference track meet with the help of 20
individual-event place winners earning a combined 68 team points (in other words, MHS had 20 people
place either 1%, 2", or 3™ and scored a total of 68 total team points). A 1* place finish earns 5 team
points, a 2" place finish earns 3 team points, and a 3™ place finish earns 1 team point. MHS had a stong

2" place showing, with as many 2" place finishers as 1 and 3™ place finishers combined. Exactly how
many athletes finished in 1% place? 2" place? 3" place?

st
y: & o 1St Pl een) X +y+2 = 2.0 11 ) Place s
U'.# o0& 24 Placers LO 24 Plaes

Ex +7y +2 =69

nd
%:ﬁ:o{ 3'A|0|A(-('5 3’-:!4-2 3 3 PlachS ]
X+ (x+2) +2 =230 Sx t3(xrzx)+2=68
2x + L2 :;@ §5+3§+§_§+3=68
-2 Bx + 4z =63 =1+
T +Yz =68 ¢ Y 3

~ix -1z =-\0 2(7) +2=2 =20

‘4)( ’_’g lq +232 A0

P

22s6 (32D
14.) You and two friends By snacks for a field trip. You spend a total of $8, Jeff spends $9, and Curtis spends

$9. The table shows the amounts of mixed nuts, granola, and dried fruit that each person purchased.

What is the price per pound of each type of snack? [
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